INTERMEDIATE EXAMINATION - 2019 (ANNUAL)

l.Com.

Sl. Code:- 220

Model Set

ACCOUNTANCY (ci@reim)

qenffal @ forg [ —

Instructions for the candidates :-

1, qoieef} gemea orae vedl # € STR <
Candidates are required to give their answers in their own words
as far as practicable.

2. ofed 3k TR W R gu sk quie fifde o €
Figures in the right hand margin indicate full marks.

3. Sz & e el gerE Te—dE 1 e T |
While answering the questions, candidate should adhere to the
word limit as for as practicable.

4. wwaﬁmﬁqﬁtﬁmﬁzﬁfﬁqwﬁﬂtfﬁmﬁﬁaﬁwﬁmwél
15 minutes of extra time has been allotted for the candidate to
read the questions carefully.

5. Tg qeE—ua < @uel § B, Tue—3 U4 Evs—d |
This question paper has two sections : Section-A and Section-B.

6. @ue—a § 50 aEFTS U §, Wi v A & |



T=s & forg 1 o el R, 39 SR Sueer v T OMR—sfe
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BIFCR /TRl U /&fs /ARG anfe &1 OMR e § 9anT Feay 7=
2, 3T URIET IRy 3y Eﬁ"TT 1)

In Section-A, there are 50 objective type questions which are
compulsory, each carrying 1 mark. Darken the circle with
black/blue ball pen against the correct option on OMR Sheet
provided to you. Do not use Whitener/Liquid/Blade/Nail on OMR
Sheet, otherwise the result will be treated as invalid.

Gue—q H IR-IEfS ge7 & 25 TgeTy yea & R O Rl 15
Yl & SR < A B | URE ue @ fow 2 of FuiRe 2 e
ArfiRea wve—a # 08 <rd STRIg e f Ry 7v ¥ R 9 ) 4
gl & ITR o1 A B | ud uee @ forg 05 s feiRa ¥

In Section-B, there are Non-objective type questions. There are
25 Short answer type questions, out of which any 15 questions are
to be answered. Each question carries 2 marks. Apart from this,
there are 8 Long answer type questions, out-of which any 4 of
them are to be answered. Each question carries 5 marks.

fell aRE & gelagie—a= &1 g afvfa |

Use of any electronic device is prohibited.



Yrs—31 (axjfrss gea)

Wﬁ@ﬂ1ﬁsoﬁmaﬁ%@mﬂ%ﬁﬁzﬁwumﬁmﬁmmﬁ
%ﬂﬁﬁ?ﬁﬁﬂﬁ?lmmaﬁ@ﬂﬁﬁmﬁOMR~?ﬁEW%ﬁ%’ﬁﬁ!

Question No. 1 to 50 have four options, out of which only one is

correct. You have to mark correct option on the OMR-Sheet.

50x1=50
1, MI—gY QT &1y & — '
A. T @rar B. a~<fds @rar
C. 999 Erar D. 79 9 I 95

Income and Expenditure Account is :-
A. Personal A/C B. Real A/C
C. Nominal A/C D. None of these.

2 U® o1 ERT YTl JATSTa eI Yoo Bl fRaRI ey 2—
A. T Y QT H
B. snfdfe fagr #
C. AT @i
D. 579 & 3¢ 7

Life membership fees received by a club is shown in :-

A. Income & Expenditure A/C



B. Balance-sheet

C. Cash A/C

D. None of these

TG BT /AT AR —
A. Tl B. 3mrrd unfe
C. 3y D. 98 | I8 8

Legacy should be treated as :-
A. A Liability B. A Revenue receipts

C. Anincome ‘D. None of these.

AN Aol @1 uRufy § WERR @ 9P g o @ & T
3 I o wrer fear s —

A 5% B. 6% C. 9% D. 8%

In the absence of partnership deed, the partner will be allowed

interest on the amount advance to the firm:-

-

A. 5% B. 6% C. 9% D. 8%

P AFER Y fA9yar 78 & ?
A. FHEiEr B. dmH—favre=
C. ¥ifaa g D. &1 a1 Q1 9 31 afaa



Which one is not the feature of partnership ?

A. Agreement B. Sharing of profit
C. Limited Liability D. Two or more than two persons

ﬂ@mﬁﬂﬂgﬁﬁa%mﬁmwzﬁ%ﬁwmﬁmmz~

A. 8% darfts B. 6% arf¥®

C. 9%arfi§® D. 379 & &K 78

In the absence of partnership deed, interest on capital will be

given to the partners at:-
A. 8% p.a. B. 6% p.a.
C. 9% p.a. D. None of these.

WIGRT BT YN W @ @) o B &
A IRMAS G5 o7 B. srfxm o wr
C. 3l\a oft w» .D. 379 | &g 98

Interest on partners capital is calculated on :-
A. opening capital B. closing capital
C. Average capital D. None of these
AIEERT @ §5 W 97 @re forar o &

A. -8 @rar § B. axefl @rar #



C. am—efa e @rar o D. 599 4 &€ 98

Interest payable on the capital of the partners is recorded in :-
A. Profit & Loss A/C B. Realisation A/C
C. Profit & Loss Appropriation A/C D. None of these

AIRIAN e § gRaw w1 gRom 2 —
A BH &1 gfes B. &4 &1 wHge
C. B4 &1 yaieRoy D. 379 &1 Bz 78

Change in the partnership agreement results in :-

A. Reconstitution of firm B. Dissolution of firm

C. Amalgamation of firm _D. None of these
%W@ﬁﬁﬁ%aqa$éﬁtqawaﬁwaﬁm%:~
A. v B. &1f4 C. uifeq D. &g

Excess of credit side over the debit side in Revaluation Account is

al-

A. Profit B. Loss C. Receipt D. Expense

TR @I T H—a1f ST @ &
A. T @rar B. ar<fd® w@rar

C. A9 @rar D. &1 =&



12.

13.

14.

Revaluation A/C or profit & loss adjustment A/C is a :-
A. Personal A/C - B. Real A/C

C. Nominal A/C D. None of these.

Iofl R =T B AHRIE: AT ARy —

A. A &1 TS B. T gmfiy

C. s &g D. 5% @ o =&
Generally the interest on capital is considered as -

A. An appropriation of profit B. An Asset

C. An expense D. None of these
=Ifa 8 —

A. T awfy B. 3 wwufay

C. =] wwufy -D. 379 4 91 T8
Goodwill is :-

A. Tangible Asset B. Intangible Asset
C. Current Asset D. None of these

AT oM W SIT AT BT AT el & —

A. arferermy B. Af3=w oy

7



15.

16.

17.

C. M= o D. 9= @y

The excess of average profits over the normal profit are called :-

A. Super profit B. Fixed profit

C. Abnormal profit D. Normal profit

AIHI DT UG B Afad qou-ar dEg & —

A. TIfa B. arfdrarH C. arfergy D. 9= @y

The monetary value of reputation of the business is called :-
A. Goodwill B. Super profit
C. Surplus D. Normal profit

Yo TR A AT B B 98 B & —
A. R WIEER 'B. T WRERR
C. 94l wr3erR D. ®ael g1 TR

Profit or Loss on Revaluation is borne by :-
A. Old partners B. New partners

C. All partners D. Only two partners.

ﬁaﬁ@aﬁﬁ—ﬁwﬁrwﬂﬁﬂ@a?a?ma%mwsﬁaﬂﬁ:

g Heaifere fbam Smar 2 -
A. Efaar B. W wefRndt



18.

19.

C. fAaur D. vanfy

Which of the following asset is compulsorily revalued at the time of

admission of a new partner:- -
A. Stock B. Fixed Assets

C. Investment D. Goodwill

T AN §RT e § ol T =l deard) & —
A. gHfry B. @™
C. Mifagw D. 399 9 ®IE 98

Share of goodwill brought in cash by the new partner is called:-
A. Assets B. Profit
C. Premium D. None of these.

TSR ERT ¥ &1 WRed qaaE a7 off Wadr & —
A. 98T & IR TR B. 3/4 wewi & favty o

C. 1/2 v & favky ur D. g9 ¥ &g 98

A firm can be voluntarily dissolved by the partners :-
A. On majority basis B. On % members decision

C. On %2 members decision D. None of these.



20.

21.

wWwﬁarﬁmsﬁmwﬁa}%ﬂmféwa%W
ST —

A. T gIRT HT9H

B. aif¥ard wwmos

C. fod oo & wesr & Rufy &

D. 7 9 313 78

Insolvency of a partner will co‘me under what type of dissolution of

a firm?

A. Dissolution by court

B. Compulsory Dissolution

C. On happening of certain contingencies

D. None of these ’
Wﬁ%ﬂwwmﬁmﬁaﬁ?—mwwa@q?
A. T @ B. ST @ ah

C. 9% wrar D. W8ITR &7 0T @rar
On firm'’s dissolution, which one of the following account should be

prepared at the last?

A. Realisation Account B. Partners capital Account

10



22

23.

C. Bank Account D. Partners Loan Account

Wwwa%mﬁa%wﬁﬁawmww
fevar Smam & -

A. T T B. WRRRT @ $of @

C. fafdy e @rar D. Suda # &g &

In the event of dissolution of a partnership firm, the provision for

doubtful debts is transferred to:-
A. Realisation Account B. Partner's capital A/C

C. Sundry debtors Account  D. None of the above

WHET B T9 A N A B WEER B BT P Qi o ey
ar Sfae fbar S aren @ &

A. M-I @ran B. a¥el @rar

C. W#IER &1 Yoft @rar D. s @

On dissolution, If a partner undertakes to make payment of a
liability of the firm, the account to be debited is: -

A. Profit & Loss A/C

B. Realisation A/C

C. Partner’s capital A/C

D. Bank Account

11



24,

25,

26.

e @ o avgelt @ § swaraRe fbar o @

A JES T $ 9T P B. aM—=1= @ & 9y @)
C. dFGRI &1 D. G=ai &1

Which of the following is transferred to Realisation A/C:-
A. Balance of cash A/C B. Balance of P/L A/C

C. Creditors .D. Reserves

@Ekwqwawﬁ@ﬁa%mﬁaﬁﬁﬂq@ﬁﬁéﬁeﬁmw%‘

A. XIg T B. 9#ERl & IS @rar
C. el @ D. 5% ¥ P =&
On dissolution of firm, Loss on realization account is debited to

which account?-
A. Cash account B. Partner’s capital account

C. Realisation account D. None of these

%@ﬁ%@ﬁmﬁmmﬁﬁwa%mﬁ@mm%:_
A. Tl @ran B. i @rar
C. Ioft @ D. g9 & &I$ 78

12



27,

28.

Cash balance shown in the balance sheet is shown on dissolution

of firm in:-
A. Realisation A/C B. Cash A/C
C. Capital A/C 'D. None of these

B4 & fdged R 3% AT &1 swiaRa B —
A. JHs  @rar B. §% wrar
C. Il @ran D. WrseR & ISl @

On dissolution of a firm, Bank overdraft is transferred to:-
A. Cash A/C B. Bank A/C
C. Realisation A/C “D. Partner’s Capital A/C

FHIIT UR 1A @I exdiaRa far Siar & —
A [EERl & IS @ 4

B. A%s @ & Hige g &

C. avell @ & e @y 4
D. a¥ell @i & »fye ger &

On dissolution, goodwill account is transferred to:-
A. Partner’s capital A/c

B. Credit side of cash A/C

13



29.

30.

31.

C. Debit side of Realisation A/C
D. Credit side of Realisation AVC

A B I O P W B wRY S @ @ e frar e
g};_

A TR @ P B. WISIGR @ ot @y

C. Y@ @ D. WY @Ry =

On dissolutior} when a partners takes over an asset, is debited:-
A. Realisation A/C B. Partner’s capital account

C. Cash account D. Asset account

99 IR-IeiRed e &1 qorar form omar @ a eoii —
A. Il @1 & 9 v § B. 9% @il & A9 uer %
C. Iell W & T vgy ¥ D. 9% @i & ST et N

Unrecorded Liabilities when paid are shown in:-
A. Debit side of Realisation A/C

B. Debit side of Bank A/C

C. Credit side of Realisation A/C

D. Credit side of Bank A/C

3797 3fEeT @rar & —

14



32.

33.

A. fFqra @rar B. ardfa®w @rar
C. I™HE E@rdr D. g7 9 &g 98

Share Allotment Account is:-
A. Personal A/C B. Real A/C
C. Nominal A/C .D. None of these

T A A B ISlimd IO S—r R ?

A. ved ot B. smarfra goh

C. Jrferge ot D. forife goh

Which one of the following is the registered capital of the
company? :-

A. paid-up capital -B. uncalled-up capital

C. authorized capital D. Issued capital

AT AT fear Sirer @ -
A. Ffrea Ioft o B. fiifie i ux
C. drft 72 oft R D. ve<1 Uoi W

Dividends are usually paid on :-
A. Authorised capital ‘B. Issued capital

C. Called up capital D. paid-up capital

15



34.

35.

36.

mzﬁﬁﬁmzﬁtﬁﬁmmﬁawﬁﬁ%mw%:—
A. gfdqaor B. ar=fas
C. ¥mHr une s D. 3 u+

Which statement is issued before the issues of shares?
A. Prospectus B. Article of Association

C. Memorandum of Association D. All of these

FOTH B —
A. YT HT YHOT—gF B. e &1 yHU—ux
C. 919 &1 YH—U5 D. 79 ¥ &Ig &

Debenture is a :-
A. Loan certificate B. Cash certificate
C. Credit certificate D. None of these

ATIRY F—0F 8 & —
A.?j,?f@l‘r[ _B.BT?TH:{:R'@IH
C. arg=fera D. 379 & 31 e

Generally debentures are :-
A. Secured B. Party secured

C. Unsecured D. None of these

16



37.

38.

39.

FUTTH IR TS @) TX Bl R -
A. 12% g a4 B. 20% ufy a¥
C. fAfR¥ea == D. 15%ufa a9

Rate of Interest on debenture js -
A 12% p.a B. 20% p.a
C. Fixed rate D. 15% p.a

Wamﬁ?@%ﬁﬁvﬁa%awmﬁ:_
A. dre] wHfy B. et wHfRy
C. 3 wwufey D. 79 & o1 =&

Patents and Copyrights fall under the category of :-

A. Current Assets B. Liquid Assets
C. Intangible Assets D. None of these
=i wHRT & i Soft @ st amdy & —

A. dre] gHfRy B. 7 ey

C. 3/ Fwafxy D. 59 & &1$ =&

Goodwill falls under which category of assets :-

A. Current Assets B. Tangible Assets

C. Intangible Assets - D. None of these

17



40.

41.

42.

IRf® o frgg § o s & ol goifar oy & —
A Il gefrdt B. W9 v ey
C. ®u vg afim D. g9 9§ #1g =78

Preliminary expenses are shown in the Balance sheet under which

head? -
A. Fixed Assets B. Reserve and Surplus
C. Loans & Advances D. None of these

U @qdIe Sgd @ fadiiy faver § aftafed 89 2 —
A. fast B. m—&1f @ran
C. Ids yare faawu D. SWRIad ¥+

The financial statements of a business enterprise include :-
A. Balance-sheet B. P/L account

C. Cash flow statement D. All of the above

veresl B Rare e @ foa @i ¥ grga @ ol 2 —
A. FITIHT BT FH] B. 9if¥e drermor sy
C. UaeIdh] B |HT D. SWRIad g+

In which meeting of company directors report is presented?
A. Director's meeting B. Annual General meeting

C. Manager's meeting D. All of the above

18



43.

44.

45.

=1 3 @ a1 < faci faaxor @ < 2 2
A. fearadm B. cuTH &1 TR
C. Y&aT 31 B D. Suxigd 9+

Which of the following is limitation of financial analysis ?

A. Window - dressing B. Basis of Valuation

C. Lack of Accuracy D. All the above

TR "I T’ § i 7E BT B -
A. fafdy a9er B. v-u=
C. 39 faa D. 3ied &g

The term “Current Liabilities” does not include :-

A. Sundry Creditors B. Debentures

C. Bills payable D. O/s expenses

RS JIUTT BT 14 | ST e € —

A. TTq 3UTd B. e arqura
C. Uait 3rqura D. g8 9 &1 718

Liquid Ratio is also known as :-
A. Current Ratio B. Quick Ratio

C. Capital Ratio “D. None of these

19



46.

47.

48.

ROT—HHIT UTT & -
A. TRETAT 37U B. forarefrerar arure

C. e &¥ar 3T D. \arer srurd

Debt-Equity Ratio is -

A. Liquidity Ratiio B. Activity Ratio
C. Solvency Ratio D. Operating Ratio

e 7 d Bl R—arem o & -
A. fo=rar B. A =g
C. qorgd D. #379 famt w &1y

Which of the following is non-operating expense :-

A. Rent B. Selling expense

C. Wages D. Loss on sale of machinery

Xihef S ST, WD A & ATl fbrerept arqurer & —
A. g THg famr B. I SuR faw
C. arfxm <=foan D. 31€ &1 fag

The gross profit ratio is the ratio of gross profit to -
A. Net cash sale B. Net credit sale

C. Closing stook D. Net total sale

20



49.

50.

B forar Femer v & et oy ¥ —
A. 91 &1 By “B. o= &1 s
C. THAT 39 &1 e D. s7re fa@

Which activity comes under "Operating Activities” :-

A. Purchase of Land B. Issue of Debenturs

C. Issue of Equity share D. Cash Sales

=1 # & P—1 A @7 oAt S R 2

A. Il s &1 famy B. Yl Wiy &1 wy
C. u—u=l &1 fafae ) D. ATt &1 9% famy

Which of the following is not a cash inflow :-

A. Sale of Fixed Assets B. Purchase of Fixed Assets

C. Issue of debentures D. Sale of goods for cash

21
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Section-B (Non-Obijective Type Quesitons)

oY STNII 9¥Hq (Short Answer Type Questions)

Wm1®25wagwﬁuérﬁﬁﬁ1sm$wélmmzﬁ%q

-

2 3% fAuifRa & (15x2=30)

Question no. 1 to 25 are Short answer type. Answer any 15 questions. Each

question carries 2 marks. (15x2=30)

1 I T T e o 87
What is Receipt & Payment Account? 02
2. W& Q9 YT @I @ & 3% qare?
State two objectives of Receip;t & Payment A/C. 02
3 SR ¥old &1 T <1 frvr—avq qam |
State any two contents of Partnership deed. 02
4, WWﬁ%ﬁ@TﬁTﬂ#ﬂWq&?ﬁwﬁmmf?ﬁﬁaﬁqﬁaﬁ
Tl ©, 919 gof Rer &)
List any two items which usually appear on the debit side of
partner is capital Account, when the capital is fixed. 02
5. ﬁﬁqﬁﬁaﬁﬁﬁwwwwmﬁwé?
State the circumstances on which reconstitutions of partnership

firm can take place?

22



10.

11

12.

13.

CATT—3UTT TAT AU Surey & a7 arr 27

What is the difference between sacrifice ratio & gaining Ratio. 02
Wzﬁmﬁwgﬁmmﬁmﬁmw%‘?

Why Revaluation A/C is prepared on admission of a partner? 02
U IHRT TEVT HR dTel WIRIER B 37 AR 9 7T o9 b g
AP

How would you calculate the amount payable to the retiring

partner?

T 3 A 9@ o B am F qoe wReR @ R @ Tomr 9
faferat d—piT @ &2 ‘

What are the methods of calculating deceased partner's share in
profit of the firm upto the date of death?
ﬁéawaﬁrﬁﬁwwwuﬁ%ﬁaﬁwméﬂw%‘?
State any two basis on which a court can pass order for dissolution
of the firm.

T WAl IR XA & PIE QL. IL9Y a7 |

Give any two objectives of preparing Realisation A/C. 02
TRBRI A FGT 39T 27

What is meant by Government Company?

Wi ) e st @ @ sy 22

What is meant by issue of shares at a premium?

23



14.

18.

16.

j i 8

18.

19.

20.

21.

22,

98 W 39 & frfaT 8q e o, 1956 & &I YTGET] &I gar |

State two provisions of the companies Act, 1956 for the issue of

shares at a discount.

g1 SeRdl @ gard e R wee afmfy Nifes R @7 g e

qHT B |

State two purposes for which security premium amount can be

used by a company.

FU-9F &b AT UR 92 &1 39 BY oRaT Bl

How would you treat discount on issue of debentures?
FO-UF B YT & TID /Ul B AT T |

Name out the ways of redemption of debentures.
faeia faaront & awg gy &7

What are the elements of financial statements?

faxfra faemont & S @ 87

What are the limitations of Financial Statements?
fachia faaror faeeyor & @) Seedt @ 99|

State two objectives of Financial Statement Analysis?

qere faxita faaver & < Sy 9qr |

State the two utility of Comparative financial statement.

STl STUTd T &7 3

What is profitability Ratio?

24

02

02

02

02

02

02

02

02



23.

24,

25.

3uTd favelyor & <1 W gan |
Name the two importance of Ratio-Analysis.
VIS YarE fIaxvr & Syt &t 9ani |

Explain the uses of cash flow statement.

Harer fhamsil | Ads YaiE & T ATy 2

What is meant by cash flow from operating activities?

25

02

02

02



<rd Iad 939 (Long Ariswer Type Questions)

Wﬁwzsﬁmwﬁa‘ﬁﬁa%lﬁﬁﬁ4m$wé|mw$fﬁw
5 3 AyiRa & (4x5=20)

Question no. 26 to 33 are Long answer type. Answer any 4 questiions. Each

question carries 5 marks. (4x5=20)

26. Wﬁeﬁmﬁmwfni'aﬁmeWWng%aﬁqwa&@
s 3 gu 2|
T & forg il v e @rer g9y —

A Rotary Club has kept its accounts on cash basis and figures for
the last year are given below. Prepare Receipts & Payments

Account for the year :-

EEN I el i) - 5,000
g g8 $ SN 9l — 39,600
¥ & SR grm = 1,200
9¥ & <RME T g - 54,500
g9 Y BT 35T Y - 2,940
IR WA TR ATy - 15,000
Afga @1 A wfd - 3,000
BRI UdS a9 B yrReT § = 4,700

AT fhrar yre gem ~ 1,000

26



27.

28.

9 & SRE e frar o w —

Entrance fees received

Subscription received during the year
Fees received during the year
Expenses paid during the yea-r
Outstanding Expenses of current year
Surplus on Bar Account

Secretary's Honorarium

Cash in hand in the beginning of year

Locker Rent received

Investment made during the year on csot

2,200
5,000
39,600
1,200
54,500
2,940
15,000
3,000
4,700
1,000

2,200

05

ST TG A Wl W AE— @T 5 TR 99T ey 8

How is Income and Expenditure Account prepared from Receipts

and Payments Account?

05

Aaﬂ?meﬁfﬁWﬁW%lWﬁsﬁ1mﬂﬁzmaaﬁ
m:13000@11ooo§rmcﬁ%w$mmwmiu€
wwwmﬁﬁmfgxﬁzﬁwwmqpﬁmf

Hﬁwﬁmmw@tﬁﬁ%qﬁﬁaﬁwﬁﬁmwi

A and B are equal partners in a firm. On 1% January 2018, their

capital respectively are Rs. 13000 and Rs. 11000, They admit C a

partner for % share of the firm. This new partner brought his

27



29,

30.

31.

capital on the basis of the combined capital of A & B. Adjust the
old partners capital account ‘according to the new profit sharing

ratio. 05

ST TV FRA ATl WRIER BT 53 G a1t e ) Rt @
quie FHIRTY |

Describe the methods of payment of amount due to a retiring
partner?

fell WeIer) BH & faged &R oy P @ o gfifedt sy -
What Journal entries will you pass in case of dissolution of

partnership firm.

PamQa%wﬁ$ﬁw$mﬁﬁﬁﬂw%ﬁ(mﬁm)
e TR P Al @ § wwiiaha e @ are RreEfaRed o o
» forg e wRIfte @y —

(1) 9% 3=o1 &7 A AT W0 12,000

(2) ©016000 FT ¥Efd Q 7 forary

(3) WIEER P A U SR BT H0 4000 T fobar |

(4) GTT # 7 <wiaft A wRY B wo 1200 F uv |

(5) faerest = w0 2000 WHTHER Q §RT YT fawar ray |

Pass the necessary Journal entries for the following transactions

on the dissolution of the firm of P and Q after the various Assets

28



32.

33.

(other than cash) and outside liabilities have been transferred to
Realisations A/C :-

(i)  Bank loan Rs. 12,000 paid.

(i)  Stock worth Rs. 16,000 was taken over by partner Q.

(iii)  Partner P paid a creditor Rs. 4,000

(iv) An assets not appearir;g in the books of account realized

Rs.1200.

(v)  Expenses of Realisation Rs. 2,000 paid by partner Q. 05

U6 S AN W 20% T Fhel o SAH 2| 5GP IUR Ry
THE faml BT & A 1 IR SUR BT w0 4,00000 £ A FEE B
P M9 BT TUET BIFAT | '

A company earns a gross profit of 20% on cost. Its credit sales are

twice its cash sales. If the credit sales are Rs. 4,00,000, Calculate

the gross profit of the company. 05

mﬁwﬁ@m&%mﬁaﬁﬁmaﬁmzﬁﬁm:_

2017 2018

" Z
AM—.IfA @Ten 55,000 60,000
TER 25,000 31,000

3red fowman 12,000 21,000

29



=Tt 40,000

gdes drr 4,000
ER 13,000

Compute the “Cash from operating activities” by Indirect Method

from the following details:-

2017

4
Profit and Loss account 55,000
Debtors 25,000
Outstanding rent 12,000
Goodwill 40,000
Prepaid Insurance 4,000

Creditors 13,000

2018

60,000
31,000
21,000
38,000

2,000

19,000




